
The Low Exponent Attack on RSA
n:=1966981193543797

1966981193543797

e:=323815174542919

323815174542919

ifactor(n)

37264873 52783789

a:=numlib::contfrac(e/n)
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c:=powermod(2,e,n)

838716638068668

for i from 1 to 10 do 
    k:=numer(numlib::contfrac::rational(a,2*i));
    d:=denom(numlib::contfrac::rational(a,2*i));
    print(numlib::contfrac::rational(a,2*i),(e*d-1)/k);
end_for
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So we get two candidates for phi(n): 1942891047257513 and 1966981103495136. But phi(n) is even, so we 
try the latter.
solve(x^2-(n-1966981103495136+1)*x+n)

x = 37264873, x = 52783789

Sure enough, this is the factorization of n:
ifactor(n)

37264873 52783789


